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Abstract．　ln　this　paper，　we　propose　a　primal－dual　algorithm　for　solving　a　class　ofproduction－

t・an・p・・tati・n　p・・b1・m・・Am・ng　m（≧2）・・u・ce・exi・七七w・fa・七・・i・・，・a・h・f　whi・h　p・・duce，

certain　goods　a七some　concave　cost　and　supPlies　n七erminals　with七he　product．　We　show　tha七

・ne　can　g1・bally・minimize　th・t・ta1…七・f　p・・du・ti・n　and　t・an・p・・tati・n　by・・1ving　a　Hit，h－

cock　transportation　problem　with　m　sources　and　n　terminals　and　a　minimum　（linear一）cost　flow

P・・b1・m　with　m＋nn・d…Th・number・f　a・ithm・ti・・P・・a七i・n・　・equi・ed　by　th・a19・。ithm　iS

pseudo－polynomial　in七he　problem　input　length．

Key　words：　Concave　minimization，　global　optimization，　production－transportation　prob－

lem，　primal－dual　algorithm，　minimum　concave－cost　flow　problem．

1．　lntroduction

Suppose　a　corporation　has　m　sources　of　certain　goods，　p　of　which　are　factories　and

the　rest　are　warehouses．　There　are　n　terminal　stores　dealing　in　the　goods．　The　decision

maker　of　this　corporation　has　to　satisfy　the　demands　of　these　terminals，　so　as　to　minimize

the　total　cost　of　producing　the　goods　and　of　shipping　them　to　each　terminal．　This　is　the

production－transportation　problem　which　we　consider　in　the　paper．

　　　The　production　cost　is　in　general　a　nondecreasing　and　concave　function　of　the　output，

which　means　that　the　production－transportation　problem　has　multiple　locally　optimal

solutions，　many　of　which　need　not　be　globally　optimal．　Hence　the　problem　belongs　to　a

class　of　global　optimization　［8］．　Although　such　a　problem　is　well　known　to　be　difiicult，　a

number　of　promising　algorithms，　qre　proposed　for　some　network　problems　（see　［6，　5］　for

the　current　state－of－the－art　of　nonconvex　network　optimization）．

　　　In　their　recent　articles　［12，　13］，　Tuy　et　al．　proposed　a　strongly　polynomial－time

algorithm　for　solving　a　special　type　of　production－transportation　problems，　vv’here　the

　　’The　author　was　partially　supported　by　Grand－in－Aid　for　Scientific　Research　of　the　Ministry　of

Education，　Science　and　Culture，　Grant　liNlo．　（C）07680447．
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number　P・f　fact・・ies　is丘xed　at　tw…three　and　wareh・uses　are　absent，　i．・．，　mニP．

Their　result　sharply　contrasts　with　general　concave　minimization　problem．s，　which　are

N　P－ha・d・v・n　wh・n　ju・t・・ユe　va・iabl・i・n・nlin・a・［11］．　Th・y　d・v・1・P・d　thi・a19・・ithm

fu・ther　t…1v・th・p・・b1・m　with　any丘x・d　m＝pin　a・ubseque1・t　a・ti・1・［14】．　An・ther

・pecial　typ・hav・been・tudi・d　in・u・a・ti・1・［9］，where　wareh・uses　are　absent　again　but

the　number　p　of　factories　are　not　fixed．　We　assumed　that　terIninals　are　partitioned　into

P－1disjoint　sets　and　each■f　P　一一1factories　is　allowed　to　supPly　only　its　assigned　set　of

termina1・・We　exp1・it・d　thi・n・tw・・k・t・u・ture　and・・1v・d　the　p・・bl・m　in　tim・0（npb），

whereろrepresents　the　total　demand　of　terminals．

　　　In　this　paper，　we　assume　that　m≧p，圭．e．，　there　can　be　some　warehouses，　each

of　which　produces　nothing　but　supplies　a　certain　amount　of　the　goods．　Under　this

・・nditi・n，　w・wi11・・ncent・at・・n　th・　・ase　P＝2，　i．・．，　am・ng　m（≧2）・・urce・there　are

two　factories，　each　of　which　can　produce　the　goods　and　also　supply　any　terIninals　with

them．　In　Section　2，　we　reduce　the　problem　to、　minimization　of　a　ullivariate　function　F
　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　ラ
・a・hvalue・f　whi・h　i・p・・vid・d　by・・lving　an・・dina・y　Hit・h・・ck　t・ansp・・tati・n　p・・blem

with　m　sources　and　n　terminals．　In　Section　3，　we　construct　an　auxiliary　network　with

m十nnodes　associated　with　the七ransportation　problem　providing　the　values　of　F

We　sh・w　that　a　g1・bal　minimum・f　F・an　b・・b七ain・d　in　the　c・urse・f・・mputing　a

mi血um（1in・ar一）…t且・w　in　th・auxilia・y　n・tw・・k．　Secti・n　4　d・v・tes　t・the　a19・・ithm

for　globally　minimizing　the　total　cost　of　the　original　problem．　The　number　of　arithmetic

・perati・n・required　by　th・alg・・ithm　i・p・eud・一P・lyn・mial　in　th・p・・bl・m　input　1・ngth．

W・a1・・di・cuss　a・1ass・fminimum・・n・ave－c・・t且・w　p・・bl・ms　relat・d　t・・u・p・・du，ti。n．

transportation　problem　in　Section　5．

2．　Reduction　to　Minimization　of　a　Univariate　Function

We　have　two　factories，　each　of　which　can　produce　at　most　ai　units　of　the　goods，　i　一一b一　1，　．P．，

and　m　一　2　warehouses，　each　with　a　supply　of　ai　units，　i　＝　3，　．．．，　m．　The　cost　of

pro　ducing　yi　and　y2　units　at　factories　1　and　2　is　given　by　g（yi，　y2）．　We　assume　that

9・：R2→：Rユi・a・・n・av・fun・ti・n．　Th・p・・du・ti・n　functi・n　g　i，。ft，n　assum，d　t。　be

separable，　i・e・，　g（yi，　y2）　＝　gi（yi）　＋　g2（y2）　for　some　concave　functions　gi　：　IRi　．　Ri，

i　一’一一一　1，　．P．．　However，　since　a　non－separable　g　is　more　realistic　as　discussed　in　［13］，　we　will

not　impose　such　an　assu皿ption　throughout　the　paper．　On　the　other　hand，　each　of　n

terminals　ha・ad・mand・fいnits，ゴ＝1，…，n・W・als・kn・w　the　unit　c・st　cεゴ・f

shipping　the　goods　from　source　i，　which　is　either　a　factory　or　a　warehouse，　to　termina1

2’．　Our　problem　is　then　formulated　as　follows：

2
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　　　　　　　　　　　　　　　　　　　　　　Figure　2．1．　Example　of　the　problem．

　　　　　　　　　　　　　　　　　　　ア　　　　れ

　　　　　　　　　minimizeΣΣCiゴ吻＋9（Y17　Y2）

　　　　　　　　　　　　　　　　　　　i夷1ゴ＝1

　　　　　　　　　subject　toΣ勘＝Z／i，乞＝1，2，

　　　　　　　　　　　　　　　　　　ゴ貢1

　　　　　　　　　　　　　　　　　　ζ¢ゴゴ”・ai，’一3，…，m，　　　　（2・1）

　　　　　　　　　　　　　　　　　　　　
　　　　　　　　　　　　　　　　　　　Σ　Xiゴ＝bゴ，ブ＝1，＿，nラ

　　　　　　　　　　　　　　　　　　　i＝1

　　　　　　　　　　　　　　　　　　陶≧0，　i＝1，．．．，m，ブ＝1，＿，n，

　　　　　　　　　　　　　　　　　　0≦2／i≦αi，　i＝1，2，

where　xiゴ’・，シ1　and〃・are　va・iabl・・t・b・d・termin・d．　W・assum・that　a11・・n・tants幡，

bノ・and・げ・are　n・nn・gativ・int・gers・Figure　2．1・h・w・p・・bl・m（2．1）with　4，。urce，

and　5　terminals．

　　　Any　fe　asible　solution　of（2．1）has　to　satisfy

　　　　　　　　　　　　　　　　　　　　　　　　　　　アユ

　　　　　　　　Y1＋y・＋Σαε一Σδゴ・　　　　　　　　　（2．2）
　　　　　　　　　　　　　　　i＝3　　　ゴ＝1

Hence，　letting

　　　　　　　　　　　　　　　　　　　　　　　　　　　アれ

　　　　　　　9（y）　一g（y，Σbゴー一　2　ai一〃），　　　　　　　　（2．3）
　　　　　　　　　　　　　　　　　ゴ＝1　　　i＝3

we　can　rewrite（2．1）as　follows：

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　3



，t c

（T　P）

mmlmlze

subject　to

m　　　n

i＝1ゴ＝1

　れ

Σ　Xiゴ＝〃，

ゴ言1

Σ吻＝αε，

ゴ濡1

Σ吻＝わゴ，

た：1

Xiゴ≧0，

e≦y≦u，

ΣΣCiゴ吻＋9（y）

　れ

Σx，ゴ＝d　一一　y，

ゴ＝1

i＝3，．．．，m，

ゴ＝1，．．．，η，

i＝1，＿，m，ゴ＝1，

i＝1，2，

　　　n一一一 V　　　　）

where

　　　　　　　　　　　　れ　　　　　　　　　　

　　　　　　　　d一ΣbゴーΣ　ai，　e－max｛0，　d・一一　a・い一min｛α1，　d｝．　　　（2．4）

　　　　　　　　　　　ゴ＝1　　　i＝3

Note　that（TP）can　still　have　multiple　locally　optimal　solutions，　sinceず：Rユー→1RI　is

concave．　To　exclude　trivial　cases，　we　assume　in　the　sequel　that　6＜u．　For　any　fixed　IJ，

1et　us　consider　a　subproblem：

（TP（y））

　　　　　　　リ　　　　　　ロ

mlnlmize

subjec七to

This　is　just　an　ordinary　Hitchc

solution　in　polynomial　time　if乏≦雪≦

・・mp・nent・are鳩ω，’i＝1，．．．，m，ゴ＝1

　　　　　　　　　　　　　　　　　　れ

　　　　　　　　！ω＝ΣΣ・iゴ鳩ω・　　　　　　　　　　（2．5）
　　　　　　　　　　　　　i・＝1ゴ＝1

Then　we　see　that　solving　the　original　problem（2．1）amounts　to丘nding　a　global　minimum

of　a　functio：［t：

　　　　　　　　F（y）一∫ω＋o（y）・　　　　　　　　　　　（2．6）

To　be　precise，（TP）can　be　solved　if　we　solve　a　minimization　problem　of　a　single　variable：

（MP）　　：皿inimize｛F（y）14≦シ≦u｝，

れ　　　は

ΣΣcεゴωεゴ

t＝1フ＝1
　れ　　　　　　　　　　　　　　　　れ

Σ　Xiゴ＝〃，Σx，ゴ＝d　一一　y，

ゴ＝1　　　　　　ゴ＝1
　れ

Σ吻＝αi，i＝3，＿，m，
ゴ需1

Σ　Xiゴ＝ゐゴ，ゴ＝1，＿，η，

ゴ＝ユ

のεゴ≧0，　　　i＝1，．．．，m，　ブ＝＝1，．．．，n．

　　　　　　ock　transportation　problem．　We　can　obtain　an　optimal

　　　　　　　　　　　　　　u．We　denote　it　by　a　vector　x＊ω，　whose

　　　　　　　　　　　　　　　，　．．．，n．　Let
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t

which　we　call　the　master　problem　of　（TP）．

　　　The　above　observation　is　sum血arized　into　the　following

Lemma　2．1．　ify＊　is　a　globally　optimal　solution　of　（MP？，　then　（x＊（y＊），Ji　＊）　solves　（TP？，

where　X＊（y＊）　isαη・optimαl　solution　Oノ（TP（シ＊）ノ）．　　　□

3．　Characteristics　of　the　Univariate　Function

Since　the　objective　function　F　of　（MP）　is　univariate，　we　can　obtain　a　globally　optimal

solution　y＊　by　enumerating　local　minima　of　F（y）　successively　from　y　＝　e　to　u．　To　do

this　e伍ciently，　we　need　to　know　the　shape　of　F　exact1）r．　As　seen　in　the　previous　sectiolユ，

F　consists　of　two　functions　f　and　g．　While　the　latter　is　given　beforehand，　the　former

requires　solving　the　transportation　problem　（TP（y））　for　all　y　in　the　interval　［e，　u］．　This

fact，　however，　tells　us　the　shape　of　F　in　outline．

Proposition　3．1．　Function　F：［e，　2L］　一　IRi　is　contin2Lous　and　piecewise　concave．．

Proof：　Since　（TP（y））　is　a　parametric　right－hand－side　linear　program，　its　optimal　value

！ωi・apiecewi・e　a伍n・and・・nv・x　fun・ti・n（・ee　e．9．［3］）．　The・um・f　a伍n，　and

concave　fu：nctions　is　concave［101，and　hence　F　is　concave　on　each　a：田．ne　piece　of！．　　　□

We　immediately　see　from　the　proposition　that　among　extreme　points　of　aflEine　pieces　of

f　exists　a　global　minimizer　y“　of　F．

　　　Let　us　suppose　f（Z／r）　is　given　for　an　arbitrary　y’　E　［e，　’u）．　Hence　we　have　an　optiinal

solution　x＊（yノ）　of　（TP（y’））．　ln　the　rest　of　the　section，　we　will　develop　a　procedure　for

computing　f（y’　＋　6）　for　sufliiciently　small　6　2　O．　Using　the　procedure　we　will　identify

the　aMne　piece　of　f　containing　y’．

3．1．　］NIIINIMUM　COST　FLOW　IN　AN　AUXILIARY　NETWORK

W・丘・・t・・n・t・u・tan　au対lia・y　g・aph　G（3ノ’）　：＝　（M，　N，　．A（3ノ’））ass・ciat・d　with（TP（の），

where　M　＝＝　｛1，．．．，　m｝　and　N　＝　｛1，．．．，　n｝　are　the　sets　of　sources　and　terminals　of

（TP）　respectively，　and　A（y’）　is　a　set　of　directed　arcs．　Based　on　the　optimal　solution

x＊ iy’）・f（TP（〃’）），　w・d・丘n・砲）and　capa・itY　zLiゴ（y’）・f・a・h　arc（乞，ゴ）∈A（y・）a・

follows　（see　also　Figure　3．1）：　For　each　pair　（i，　］’）　such　that　i　E　A4　and　2’　E　N，　let

　　　　　　　　（i，ゴ）∈A（〃’いiゴ（〃’）＝＋・・，　　　　　　　　　（3．1）

　　　　　　　　（ブ，の∈A（y’いゴi（の一zあ・（y’）if鴨（・」’）＞0．　　　　　（3．2）

In　addition，　for　each　（z’，　2’）　E　A（y’）　we　define　a　cost：

　　　　　　　　ciゴ（y’）一似ゴ　懲：X：　　　（3・3）
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且・w鳩（の

cost　Ciゴ

capacity　oo

　　　cost　Ciゴ

capacity　xfi」・（2」’）

cost　－Cεゴ

Figure　3．1．　Arcs　in七he　auxiliary　ne七work万（y’）．

In　Figure　3．1，　the　right　arcs　are　constructed　from　the　left　one．　Denote　by　c（lyi）　and　u（y’）

the　vectors　of　ciゴ（の，s　and吻（y’），s　respectively．　Then　we　have　the　following　problem　in

network　！V‘ iy’）　＝　（G（y’），　c（y’），　u（yt）），

（P（6；　y’））

　の　　　　　　　　　　　　　　

mlnlmlze

subject　to

　　2
（i，ゴ）∈A（雲／）

Ciゴ（y’）・εゴ

ΣZlゴー
ゴ∈v（1）

2
ゴ∈v（2）

ΣZiゴー
ゴ∈v（i）

　　　　　　Σzゴ1＝δ，

　　　　ゴ∈w（1）

zザΣzゴ、＝一δ，
　　　　ゴ∈w（2）

　　　　　Σ・ゴ・

　　　　ゴ∈w（i）

　　　　り　　　　，

＝　O，　iGMUNX｛1，　2｝，

where　zi／s　are　variables

（2’，　i）　E　A（y’）｝．　Since　（P（6；　y’））　is　a　minimum　linear－cost　flow　probl

source　s　＝　1　E　M　and

existing　algorithms．　Let　us　denote　an　optimal　solution　of　（P（6；　？」’））　by　z’（6；　y’）

components　are　z，“・」‘（6；　Y），

Lemma　3．2．　For　eαcん（i，ゴ）such　thαt　i∈Mαηの∈N，　let

O　S｛　Zi」・　SI　2Li，・（Y’），　（i，　／’）E　A（yt），

，V（の＝｛ブ∈MuNl（i，ブ）∈盃（の｝and肺）＝｛ブ∈MUNI

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　em　in　A／’（g／i）　with

sink　t　＝　2　E　M，　we　can　solve　it　efficiently　using　any　one　of

　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　　，　whose

　　（zりフ）∈A（y’）．

　　　　　　　　鳩（δ；y’）悌）㌦4）一鞠）認＝0，（3・4）

Th・n　x＊（δ；〃’）・ωん・5e　c・卿・n・nt・・ar・鳩（δ；y’）’・，　i・αn・P伽α1・・ZU伽酬TP（〃’＋δ）ノ．

6



1）ro（：ゾ：　For　an　arbitrary　feasible　solution　z　of（P（6；y’）），1et

　　　　　　　　鳩一｛二1（y，）＋㌃残蕊h肉冠＝o，

Then　we　have

n

Σ鳩＝Σ鳩（y’）＋（Σ
ゴ＝1

m
Σ鳩＝Σゴ・（〃’）
i＝1

　n

　　　　　　　　　　　　　　　zザΣ・ゴの

3＝1　　　　　　　　　ゴ∈V（i）　　　　　ゴ∈W（i）

　　y’十6，　i一一一一1，

　　d－3ノノーδ，　i＝2，

　　ai，　i一一3，．．．，m，

rn

　　　，3一（Σzゴ・一ΣZiゴ）＝bゴ，ブ＝1，＿，n，
た＝1　　　　　　　　　　i∈V（ゴ）　　　　　i∈W（ゴ）

and

　　　　　　　　ア　　　　の　　　　　　　　　　　　　　ア　　　　れ

　　　　　　　　ΣΣCi鴎一ΣΣ・鵡⑳＋ΣCiゴ（幽ゴ．
　　　　　　　　t＝1フ＝l　　　i＝1ゴ＝1　　　　（i，ゴ）∈A（y’）

H・nce　th・f・a・ible　set・f（P（6；〃’））represent・p・ssibl・adjust皿・nt・・f　x＊（〃’）t・a・1ight

change　in　y’・Among　such　adjustments　zl＊（δ；のrequires　the　millimum　cost，　which

apparently　implies　that　x＊（δ；y’）de丘ned　by（3．4）is　optimal　to（TP（3／t十δ））．　　□

3．P一．　APPLICATION　OF　THE　PRIMAL－DUAL　ALGORITHM

We　next　try　applying　the　primal－dual　algorithm　［4］　to　the　auxiliary　problem　（P（6；　y’））．

The　algorithm　begins　with　a　zero　flow　in　．／V” ig／t），　and　augment，s　it　by　adding　some　flow

along　a　directed　path　from　source　s　to　sink　t　with　the　least　cost　in　．V（y’）．　To　find　such

an　augmenting　path，　NN’e　need　to　solve　a　shortest　path　problem　in　G（y’）　with　arc　length，

c（y’）．　lt　follows　from　（3．2）　that　there　exists　some　／’　E　N　such　that　（2’，　2）　E　A（yi　’）　as　long

as　y’　〈　d．　Hence　we　can　obtain　a　shortest　path　T（y’）　c　A（y’）　from　s　to　t　（＝　2　E　M）．

Let

　　　　　　　　6　＝　min｛zLiA　（i・，　2’）　E　T（y’）｝．

Lemma　3．3．　ij　O　S　6一く　6，　then

　　　　　　　　萄（δ；y’）一｛篇絃1π（y’），

is　an卿mα1・・liLti・n・ザrp（6；y’）ノ．

（3．5）

（3．6）

Proof：　Follows　from　a　well－known　result　on　the　primal－dual　algorithm　for　minimum　cost

fiow　problems（see　e．g．［2］）．　O
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It　follows　from　（3．4）　and　（3．6）　that

m　　　n

f（y’＋6）　＝　22ci，・x：・，（6；y’）

i＝1ゴ＝1

アアユ　　アユ

ΣΣCiゴ鞠’）＋ΣCiゴ（嘱（δ；Yl’）

i＝1ゴ＝1　　　　（i，ゴ）∈A（の

！（シt）＋δΣ・・ゴ（ッ’）．

　　　　　　　（i，ゴ）∈π（y’）

（3．7）

This　implies　that　f　is　an　affine　funct’ion　over　the　interval　［？」’，　yi’＋　6一 n．

We　are　now　ready　to　show　the　exact　shape　of　F．　Let　yi　o　＝：　e　and　let　（P（6；　yo））　be　the

auxiliary　problem　of　（TP（yo））．　Then，　by　Lemmas　3．2　and　3．3，　we　can　obtain　an　interval

［y・，y・＋δ1，　where！i・a缶n・，　in　th・丘rst　st・p・f・・1ving（P（δ；y。））by　th，　p，imal．dual

algorithm．　lf　we　let　yi　＝　yo　＋　6一 @and　construct　（P（6；　yi）），　then　an　altemative　interval

［yi，　y2］　will　be　obtained　in　the　same　way　as　before．　Repeating　this　process，　we　can

generate　a　sequence・f　interva1・［YO　（＝　e），　Yl］，　［3／1，　3／2］，…，　［2」q－1，　Jl　q（＝　tlL）】su・h　that／is

afEine　on　each　［yk－i，　yk．］，　k　一一一一　1，　．．．，g．　Since　F　is　concave　on　each　［yk－i，　yk．］，　its　minimum

over　the　interval　is　achieved　at　either　yk．一i　or　yk．　Hence　a　globally　optimal　solution　of

the　master　problem　（MP）　is　given　by

y’　E　argmin｛F（y）　l　y　＝＝　yo，　yi，　…，　yq｝・
（3．8）

4．　Solution　Method　for　the　Problem

In　th・previ・u・secti・n，　t・9・nerate　ea・h　interval［Yk－1園，　we　s・lv・d　a・ni、ユimum，。，t

flow　problem　（P（6；　yk－i））　from　scratch．　ln　practice，　however，　we　need　not　do　so．　The

whole　sequence　of　［yh－i，　yk］’s　will　be　generated　if　we　solve　a　single　problem　（P（iL　一　e；　e））．

Recall　that　the　primal－dual　algorithm　［4］　builds　up　a　flow　step　by　step，　by　adding　flows

along　augmenting　paths　with　the　least　cost　in　some　auxiliary　network　Al’．　At　each

iteration　we　find　a　least－cost　augmenting　path　T’　in　．IV’．　lf　T’　exists，　we　augment　the

flow　along　7r’　until　the　flow　reaches　the　capacity　of　T’，　and　then　update　the　auxiliary

n・tw・・k　N’・Wh・n　w・apPly　thi・a19・・ithm・ntirely　t・（P（iL　一e；の），　th・auxilia，y

network　A／”　and　the　augmenting　path　T’　at　the　kth　iteration　just　correspond　to　．7V（yk－i）

and　T（yk－i）　respectively，　and　the　capacity　of　T’　is　given　by　min｛zLi」・　1　T（yk－i）｝．

4．1．　ALGORITHM　FOR　THE　ORIGINAL　PROBLEM

According　to　the　above　observation，　let　us　describe　the　algorithm　for　solving　the　original

problem　（TP）．
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Algorithm　PDM．

Step　1．　Solve　a　transportation　problem　（TP（e））　and　let　x＊（e）　be　an　optimal　solution．

　　　　　L・t！（の＝Σ盤、Σ』cεゴ鳩（e）．lnitialize　the　incr・mbent・

　　　　　　　　　　　　　x＊　＝＝　x’（e），　y’　＝：　e，　F＊　＝＝　f（e）　＋g（e）．

St・p　2・C・n・t・uct　the　auxilia・y　n・tw・・k〈r（e）一（σ（の一（M，　N，攻の），　c（の，　u（の）・f

　　　　　（TP（e））　according　to　（3．1）　一　（3．3）．　Let　s　＝＝　1　E　M　and　t　＝　9．　E　AI．

Step　3．　Let　z／o　＝　e，　k　＝：　O　and　do　the　following：

　　　　　　10　Compute　a　shortest　path　T（yh）　from　s　to　t　in　G（yk）　with　arc　length　c（yi　k）．

　　　　　　　　Let　6＝　min｛2Li，・　1（i，　2’）　E　T（yk．）｝．　lf　yk　十　6一　〉　zL，　then　let　6M　’一一　ze　一　yk．．

　　　　　　20　Let　yk＋i　＝＝　yk．　十　6．　For　each　（i，　］’）　such　that　i　E　A4　and　］’　E　N，　let

　　　　　　　　　　　　　　　　　　　　　　　　　　　　鳩ω＋δif（i，ゴ）∈π（Yk），

　　　　　　　　　　　　　　　　鳩（3／k＋ユ）＝鳩ω一5if（ゴ，の∈πω，

　　　　　　　　　　　　　　　　　　　　　　　　　　　　x；・」・（yk）　otherwise．

　　　　　　　　Also　let　f（yk＋i）　＝＝　f（Ykt）　＋　6一　Z）（i，」’）E7r（yk）　Ci」’（Yk）’

　　　　　　30　lf　f（yk＋i）　十　g（yk＋i）　〈　F＊，　then　revise　the　incumbent：

　　　　　　　　　　　　　　　　X＊＝　X＊（Yk・＋i），　Y＊＝　Yk＋i，　F’　＝＝　f（Yh＋i）＋g（」7　k・＋i）・

　　　　　40　lf　yk．＋i　＝＝　u，　then　terminate．　Otherwise，　update　the　auxiliary　network　．IV（yk．）

　　　　　　　　according　to　（3．1）　一　（3．3）　and　let　A／”（yk．＋i）　be　the　resultant　network．　Let

　　　　　　　　k＝k十1and　return　to　1。．　　　ロ

Note　that　Step　3　of　this　algorithm　is　nothing　but　the　primal－dual　algorithm　for　solving

the　minimum　cost　fiow　problem　（P（zL　一　e；　e））　if　it　lacks　substep　30，　which　computes　a

global　minimizer　of　F．

　　　Let　us　denote　by　S（m，　n）　the　running　time　to　solve　a　shortest　path　problem　with

mn　arcs　and　m　十　n　nodes，　and　by　T（m，　n）　that　to　solve　a　Hitchcock　transportation

problem　with　m　sources　and　n　terminals．　As　well　known　（see　e．g．　［1］），　both　S（m，　n）

and　T（m　，　n）　are　lower－order　polynomial　functions　of　m　and　n．

Theorem　4．1．　Algorithm　PDM　yieZds　a　globally　optimal　solution　（x＊，　y’）　of　（TP？　in

O（cS（m，　n）＋T（m，　n））　arithmetic　operations　and　0（c）　evaliLations　of　g，　where　c　＝　zL－e．

Proof：　The　main　parts　of　PDM　are　Steps　1　and　3．　Step　1　requires　T（m，　n）　arithmetic

operations　to　solve　a　transportation　problem（TP（の）．　In　Step　3，　we　compute　a　shortest

path　T（yk．）　and　the　value　g（yk．＋i）　at　each　iteration．　The　total　number　of　iterations　in

S七ep　3　is　b・unded　by　c＝z・　一一　e，　since　6一 ?P・n　the　assumpti・n　that　all　c・醜・・ts　are

integral　in（TP）．　Thus　the　assertion　follows．　O
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　　　The　worst－case　time　complexity　of　Algorithm　PDM　is　not　polynomial　in　the　pi’oblem

iIユput　length　even　though　the　vahle　of　g　is　provided　by　all　oracle．　However，　all　the

problems　solved　in　PDM　are　essentially　two　network　optimization　problems，　i．e．，　one　is

aHitchc・ck　t・ansp・・tati・n　P・・b1・m　and　th・・t1ユer　a　minimum　c・・t且・w　p・・bl・m．　By

many　experiments　performed　so　far，　it　is　known　that　even　non－polynomial　algorithms

can　solve　both　the　problems　quite　efi3ciently．　Therefore，　we　may　afiEirm　that　PDM　is　also

practically　eMcient　unless　evaluations　of　g　are　extremely　expensive．

Remarks．　1）　ln　Step　3．　10　of　PDM，　we　cannot　use　Dijkstra’s　algorithm　immediately

to　compute　the　shortest　path　T（yk）　because　some　components　of　arc　length　c（yk）　are

negative．　However，　op　the　assumption　that　all　ci」・’s　are　nonnegative　in　（TP），　it　is　pos－

sible　to　transform　c（yk）　into　a　nonnegative　vector　in　every　．／V’（yk．）　if　we　introduce　node

potentials．　Then　we　can　compute　T（yk）　in　time　S（m，　n）　＝＝　O（mn　＋　（m　＋　n）　log（m　＋　n））．

The　readers　are　referred　to　any　textbook　on　network　flows，　e．g．　［1］　for　further　details．

　　　2）　We　have　assumed　that　the　production　cost　g　is　a　concave　and　hence　continuous

function．　However，　one　might　reasonably　expect　g　to　be　piecewise　concave　but　discon－

tinuous　（e．g．　a　fixed－charge　cost　function）．　So　long　as　g　is　lovsrer　seini－continuous，　we

can　handle　a　discontinuous　g　using　PDM　with　a　minor　modification．　Let　us　divide　each

［yk－i，　yk］　at　discontinuous　points　of　g．　Then　［e，　zL］　is　partitioned　into　r　（2ir　g）　subintervals

［nk・t－i7　nht］，　k’　＝　1，．・．，　r，　where　vkt　is　either　a　yk．　or　a　discontinuous　point　of　g．　Since

F＝！＋9・is　c・ncav・・n　the　i・ユteri…f・ach［ηたし1，ηk’1，it　a・hieves　the・ninimum・n圓

at　some　nk，　by　the　lower　semi－continuity．　Hence，　to　locate　y＊　in　［e，　ze］，　we　need　on！y　to

compute　the　values　of　F　at　discontinuous　points　of　g　as　well　as　iJk・’s．　Z

4．2．　NUMERICAL　EXAMPLE

Before　concluding　this　section，　let　us　illustrate　Algorithm　PDM　using　a　simple　instance

of　（TP）　given　by　the　table　below：

s・urce＼termina1 t1 t2 t3 t4 supply 　　　　●モ≠垂≠モ撃狽

S1 12 1 3 4 ツ 200

S2 4 9 6 2 300－g 200

S3 2 6 2 10 150
『

demand 80 180 120 70 450
一

where　each　entry　（si，　t］・）　represents　the　transportation　cost　ci」・．　The　production　cost　of

factories　si　and　s2　is　assumed　to　be

g（y）　一　loo．o　・　vZi・

The　lower　and　the　upper　bounds　of　y　are　respectively

10



e＝＝loo，　zL　＝＝　200．

　　　In　Step　1　of　PDM，　we　solve　a　transportation　problem　（TP（100））．

solution　x＊（100）　is　as　follows：

Then　an　optimal

t1 t2 t3 t4 supply

S1 0 100 0 0 100

S2 80 50 0 70 200

S3 0 30 120 0 150

We　also　initialize　the　incumbent：

　　　　　　　　x＊＝　x＊（100），　y＊　＝＝　100，

　　　　　　　　F＊　＝　f（loo）　十　g（loo）　一一一一　1430　十　looo．oo　＝　2430．oo．

　　　In　St・p　2・f・r　ea・h　arc（i，ブ）with鳩（100）＞Ow・put　a　reverse　arc（ブ，のwitl・capa・ity

x，＊・v・（100）　and　cost　一一ci」・，　i．e．，

arc　（t2，　sl）

arc　（tl，　s2）

arc　（t2，　s2）

arc　（t4，　s2）

arc　（t2，　s3）

arc　（t3，　s3）

with　capacity

with　capacity

with　capacity

with　capacity

with　capacity

with　capacity

100

80

50

70

30

120

and　cost

and　cost

and　cost

and　cost

and　cost

and　cost

一　1，

一一
@4，

一一
@9，

一　7“，

一　6，

一　2，

and　denote　by　YV（100）　the　resultant　network．　Letting　yo　＝　100，　we　proceed　to　Step　3．

　　　In　Step　3，　we　first　compute　a　shortest　path　T（100）　from　s　＝　si　to　t　＝　s2　in　．IV（100）

and　obtain：

　　　　　　　　T（100）　＝　（si，　t2，　s2），　6一　一一’　min｛oo，　50｝　＝　50．

Then　we　let　yi　＝　150　and　compute　x＊（150），　which　is　given　by

t1 t2 t3 t4 supply

S1 0 150 0 0 150

S2 80 0 0 70 150

S3 0 30 120 0 150

Since

f（150）　十　g（150）　＝　1030　十　1224．75　＝　2254．75　〈　F’，

we　revise　the　incumbent　as　follows：

11
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　　　　　　　　x＊＝x＊（150），　2ノ吝＝150，　F＊＝ノ（150）十す（150）＝2254．75．

According　to　the　same　rule　as　before，　we　update　Ar（100）　based　on　x’（150），

by　N（150）　the　resultant　network．

　　　At　the　next　iteration　in　Step　2，　we　compute　a　shortest　path　in　A／”（150）：

　　　　　　　　T（150）　＝　（s，，　t2，　s，，　t，，　s，），　6一　一一一・　｛oo，　30，．oo，　80｝　＝　30．

We　let　y2　＝＝　180　and　compute　x＊（180）：

t1 t2 t3 t4 SUPPly

S1 0 180 0 0 180

S2 50 0 0 70 120

S3 30 0 120 0 150

Since

　　　　　　　　f（180）　十　g（180）　＝　820　十　1341．64　＝　2161．64，

we　revise　the　incumbent　again：

　　　　　　　　x＊＝x＊（180），　3ノ＊：＝180，　F＊＝＝！（180）一十・9（180）＝2161．64．

and　denote

YVe　also　update　．IV” i150）　based　on　x＊（180）　and　obtain　N（180）．

　　　At　the　third　iteration，　we　compute　a　shortest　path　in　．AV’（180）：

　　　　　　　　T（180）　＝　（si，　t3，　s3，　ti，　s2），　6一　一一一　min｛oo，　120，　oo，　50｝　＝　50．

Since　y2＋6　＝＝　230　〉　zL　＝　200，　we　modify　6一　’一一一　20．　We　let　y3　＝　200　and　compute　x’（200）

Since

t1 t2 t3 t4 SUPPly

S1 0 180 20 0 200

S2 30 0 0 70 100

S3 50 0 100 0 150

　　　　　　　　f（200）　十　g（200）　：800　十　1414．21　＝　2214．21　〉　F＊

and　2」3　＝　2L，　we　find　that　the　current　（x“，　y’）　is　a　globally

lnstance．

optimal　solution　of　our
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5．　A　Minimum　Concave－Cost　Flow　Problem

In　both　combinatorial　and　global　optimization，　one　of　the　most　attractive　but　most

difficult　problems　is　the　minimum　conca＞e－cost且ow　probleln．　To　solve　this　NP．hard

problem，　many　algorithms　have　been　developed　so　far，　and　some　of　them　turned　out　to

be　promising　for　some　special　cases　（see　［5，　61　and　references　therein）．　Especiall．y　when

both　the　numbers　of　sources　and　nonlinear－cost　arcs　are　fixed，　uncapacitated　problems

can　be　solved　in　polynomial　time　［7，　12，　15］．　ln　this　section，　we　will　show　that　capacitated

problems　with　a　single　nonlinear－cost　arc　can　be　transformed　into　the　class　（TP）　of

production－transportation　problems　and　hence　solved　by　Algorithm　PDM　in　pseudo－

polynomial　time．

　　　Let　G　＝　（N，　A）　be　a　directed　graph　consisting　of　a　set　N　of　nodes　and　a　set　A　of

direct・d　arc・・W・ass・ciat・with・a・h　arc（i，ブ）∈A・・n・ave　c・・t　gがR1→：Rl　and

capacity　zLi」・　｝il　O，　and　with　each　node　i　E　N　a　number　bi，　which　indicates　its　supply　or

demand　depending　on　whether　bi　〉　O　or　bi　〈　O．　Then　the　minimum　concave－cost　fiow

problem　is　formulated　as　follows：

（FP）

mlnlmlze

subject　to

Σ9三ゴ（Ciゴ）

（i，ゴ）∈A

Σx’iゴー　Σ　iCゴi＝bi，

ゴ∈v（の　　　　　　ゴ∈Ml（つ

0≦Xiゴ≦吻，

iE　A7’
C

（z，フ）∈ノ1，

where・・げ・a・e　va・iables，　V（の＝＝｛フ．∈Nl（i，ゴ）∈A｝and肺）＝｛ブ∈NI（ブ，の∈A｝．

We　assume　that　all　constants　are　integral，　and　for　simplicity　that　（FP）　has　a　feasible

且・w・ln　thi・p・・b1・m，　w・are　c・ncem・d　with　the　case　where　a119げs　except・n・，・ay，

g。ω，are　linear　functions，　i．e．，　for　some　nonnegative　integers　ci／s，

9i」’（X’i」’）　＝　ei2・‘x’i」，　（i，　2’）　E　A×　｛（v，　lv）｝．
（5．1）

Given　such　an　instance　of　（FP），　we　“rill　construct　an　instance　of　（TP）．

　　　If　flow　x’．．　of　the　nonlinear－cost　arc　（v，　w）　is　fixed　at　any　value　y，　we　have　a　minimum

linear－cost　flow　problem：

（FP（y））

mlnlmlze

subject　to

2　　　　　Ciゴ：「乞ゴ
（i，ゴ）∈A’

ΣωガΣxゴv＝
ゴ∈v’（v）　　　　　　ゴ∈u・rt（v）

Σωωゴ
ゴ∈v’（ω）

Σωザ
ゴ∈v’（i）

一yラ

一Σxゴω＝y，
　ゴ∈H”（ω）

　　Σxゴ、＝δ，

　　　　　　　　　ゴ∈H”（の

0≦Viゴ≦吻，

iE　AT　X｛v，　zL；｝，

（i，ゴ）∈ノ4ノ，
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Figure　5．1．　Transformation　from　（FP（y））　to　（FP’（y））．

where　A’　＝　AX｛（v，　w）｝，　V’（i）　＝　｛2’　E　N　l（i，　］’）　E　A’｝　and　W’（i）　＝　｛］’　E　N　1（2’，　i）　E　A’｝．

As　well　known，　we　can　transform　（FP（y））　into　a　Hitcl｝cock　transportation　problem　in

the　following　manner　（see　e．g．　［1］　for　details）：　Let　us　regard　N　as　the　set　of　sources　and

A’a・the・et・f　terminal・・F・r　ea・h（i，ブ）∈A’w・丘rst　d・丘n・tw・di・ect・d　arc・（礁ブ））

and　（］’，　（i，　7’）），　and　assign　cost　cii・　to　the　former　and　cost　zero　to　the　latter．　We　next

let　Z）jEvvt（i）　zLji　十　bi　be　the　supply　of　source　i　E　N　and　ui」・　be　the　demand　of　terminal

＠のEAノ．：Figure　5．1　shows　the　transformation，　where　the　right　Iletwork　is　trallsformed

from　the　left．

　　Now　we　have　the　following　problem　equivalent　to　（FP（y））：

（FP’（シ））

mlmmlze

subject　to

ΣCiゴξ，（i，ゴ）

（iiゴ）∈A’

2　Cv（v，」）＋　2　Cv（i．）＝＝a．一y，

（v，ゴ）∈ノ4’　　　　　　　（ゴ，v）∈A’

2　Cw（w，」）＋　2　6w（」，w）＝aw＋zi，

（ω，ゴ）∈A’　　　　　　　　（ゴ，ω）∈A’

2　Ci（i，」）＋　］Z）　ci（」，i）　＝＝　ai＋bi，　i　EN×｛v，　w｝，

（z，フ）∈ノ1’　　　　　　　（ゴ，i）∈A’

ξi（i，ゴ）＋ξゴ（i，ゴ）＝fl・Liゴ，　　　　　　　　（乞，ブ）∈At，

Ci（ik））O，　iEN　（2’，　k：）EAt，

where　Ci（ik）’s　are　variables　and

ai＝　2　iL」i，　iEN．

　　　ゴ∈H”（i）

（5．2）
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it　1　i　　r

It　is　easy　to　see　that　our　instance　of　（FP）　can　be　solved　if　we　minimize　the　sum　of　the

optimal　value　of　（FP’（y））　and　g．．（y）　subject　to　O　一く一一　y　一く　zL．．．　ln　otJher　words，　a　globally

optimal　solution　of　（FP）　with　a　single　nonlinear－cost　arc　can　be　obtained　if　vvre　solve　a

production－transportation　problem：

mmlmlze

subject　to

ΣCiゴξ歪（iの＋9。ωω

（i，ゴ）∈A’

2　Cv（v，］’）＋　2　Cv（iv）＝a．一2」，

（v，ゴ）∈A’

2　Cw（w，」）＋

（ω，ゴ）∈A’

（ゴ，v）∈A’

　　2　Cw（」，w）＝＝a．＋tLz，

　（ゴ，w）∈A’

Σξ糊＋Σξ，（ゴの＝αf＋b，，　i∈N＼｛v，’w｝，

（i，ゴ）∈A’

ξi（i，ゴ

（ゴ，i）∈A’

　　　）＋ξゴ（i，ゴ）＝＝ILiゴ，

Ci（」，k）　i｝ir　o，

O　fE｛　y　f｛　2L．．，

iE　N，

（i，　／’）　E　At，

（］’，　k）　E　At，

（5．3）

which　apparently　belongs　to　（TP）．

References

［1］　Ahuja，　R．K．，　T．L．　Magnanti　and　J．B．　Orlin，　ATetwork　flows．’　Theorz／，

　　　and　Applications，　Prentice　Hall　（N．J．，　1993）．

［2］

［3］

［4］

［51

［6］

［7］

［8］

［9］

［i　O］

Algor7］thms

Berge，　C．，　Craphes　et　Hypergraphes，　Dunod　（Paris，　1970）．

Chvata1，　V・，　Lin・ar・Pr・grαmm吻，　Freeman　and　C・mpany（N．Y．，1971）．

Ford，　L．R．　and　D．R．　Fulkerson，　Flows　in　？Vetivorks，　Princeton　University　Press

（N．J．，　1962）．

Guisewite，　G．M．，　“Network　problems，”　in　R．　Horst　and　P．M．　Pardalos　（eds．），　Hand－

book　of　Global　Optimization，　Kluwer　Academic　Publishers　（Dortrecht，　1995）．

Guisewite，　G．M．　and　P．M．　Pardalos，　“Minimum　concave－cost　network　flow　prob－

lems：　applications，　complexity　and　algorithms，”　AnnaZs　of・　Operations　Research　25

（1990），　75　一　100．

Guisewite，　G．M．　and　P．M．　Pardalos，　“A　polynomial　time　solvable　concave　network

flow　problem，”　Networks　23　（1993），　143　一　149．

Horst，　R．　and　H．　Tuy，　GlobaZ　Optimization：　Deterministic　Approaches，　Springer－

Verlag　（Berlin，　1990）．

Kuno，　T．　and　T．　Utsunomiya，　“A　decomposition　algorithm　for　solving　certain

classes　of　production－transportation　problems　with　concave　production　cost，”　Tech－

nical　Report　ISE－TR－94－113，　lnstitute　of　Information　Sciences　and　Electronics，　Uni－

versity　of　Tsukuba　（Tsukuba，　1994）　to　appear　in　Journ，al　of　Global　optimi，zation．

Mangasarian，　O．L．，　Alonlinear　Programming，　McGraw－Hill　（N．Y．，　1969）．

15



1：　尋　唖　¢

［11］　Pardalos，　P．IVI．　and　S．A．　Vavasis，　“Quadratic　programming　with　one　negative　eigen－

　　　　value　is　NP－hard，”　loumal　of　GZobal　Optimiiation　1　（1991），　15　一　22．

［1？．．］　Tuy，　H．，　N．D．　Dan　and　S’．　Ghannadan，　“Strongly　polynomial　time　algorithms　for

　　　　certain　concave　minimization　problems　on　networks，”　Operattons　Research　Letters

　　　　14　（1993），　99　一　109．

［13］Tuy，　H．，　S．　Ghannadan，　A．　Migdalas　and　P．　Varbrand，‘もStrollgly　polynon：ユial　al．

　　　　gorithm　for　a　production－transportation　problem　with　concave　production　cost，”

　　　　Optimiiation　27　（1993），　205　一　227．

［14］Tuy，　H・，　S・Ghannadan，　A・Migdala・and　P．　Va・b・an（いSt・・ngly　p・1yn。mial　al．

　　　　gorithm　for　a　production－transportation　problem　with　a　fixed　number　of　nonlinear

　　　　variables，”　Preprint，　Department　of　Mathematics，　Link6ping　University　（Link6ping，

　　　　1993）．

［15］　Tuy，　H．，　S．　Ghannadan，　A．　Migdalas　and　P．　Varbrand，　“The　minimum　concave

　　　cost　network　fiow　problem　with　a　fixed　number　of　sources　and　nonlinear　arc　costs，”

　　　Preprint，　Department　of　Mathematics，　Link6ping　University　（Link6ping，　1993）．

16

t


